
 

  

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

It’s a 

............. 

boy. 

1. Circle the adjective. 

 thin   fat 

fast   slow 

 tall   short 

small  big 

tall    short 

dirty  clean 

  young   old 

young   old 

 active 

happy  sad 

 soft  strong 

2. Match the opposites. 

1. young 

2. hard 

3. ugly 

4. weak 

5. hot 

6. good  

7. long 

8. tall 

9. fat 

10. big 

a. old 

b. short 

c. bad 

d. cold 

e. thin 

f. soft 

g. beautiful 

h. strong 

 i.  small 

 j.  short 

3. Spot the odd one out. 

dirty   strong  dog 

small   pen   long 

short     banana   big 

book   fat    thin 

yellow   big       small  

hot   December    cold 

pretty  cat   beautiful 

4. Complete the   
    sentences. 

It’s a 

............. 

policeman. 

It’s a 

............. 

bird. 

It’s a 

............. 

mouse. 

It’s a 

............. 

elephant. 

It’s a 

............. 

snake. 

Maestralidia,com 


